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Read the instructions given below before opening this question booklet :

DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO i

1. Use only BLUE/BLACK Ball Point Pen.

2. Check the QUESTION BOOKLET thoroughly. In case of any defect — misprint, missing question/s,
get the question booklet changed. No complaint shall be entertained after the exam in this regard.

3. This test booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the response
which you consider the best. In any case, choose ONLY ONE response for each item.

4, All Questions are COMPULSORY. Each Question carrics one mark. For each wrong Answer, one
fourth (0.25) mark will be deducted.

5. Before you mark the Answer, read the instructions on the back page of the OMR (Answer) Sheet as
well as on the Question Booklet and fill the particulars in the OMR (Answer) Sheet carefully and
correctly. Incomplete & Incorrect particulars may result in your OMR (Answer) Sheet not being
cvaluated by the Computer.

6. Answer Sheets will be collected only after the completion of the Examination and no candidate shall
be allowed to leave the Examination Hall earlier. After completing the test, handover the OMR
(Answer) Sheet to the Invigilator.

7.  For Rough Work, 2 Blank Sheets have been provided in the Question Booklet itself. No Extra Sheet
will be provided under any circumstances:.

8.  Write the QUESTION BOOKLET SERIES in the space provided on the OMR (Answer) Sheet, by
darkening the corresponding circles.

9. Candidate should write his/her Name, Roll Number, Question Booklet Series and other specific
information in the space provided on the Question Booklet as well as on the OMR (Answer) Shect.

NOTE : The Question Booklet is bilingual. In case of any difference/ambiguity between English &
Hindi version, the English version shall be considered as final/correct.
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Directions for the following 5 (Five) items no. 1 to 5 :

Read the information given below and answer the five items that follow :

In another tragic Indian Air Force accident, a Mirage 2000 trainer aircraft crashed on

01/02/2019 after taking off from Hindustan Aeronautics Limited airport in Bengaluru,

killing two IAF officers. This aircraft was upgraded by Hindustan Aeronautics Limited.
This aircraft crashed soon after taking off, suggesting a pbssible problem with landing
gear. The accident adds to a growing list of IAF aircraft crashes in recent years. The
Bengaluru mishap comes days after a Jaguar fighter crashed in UP’s Kushinagar. All of
this is indicative of a deeper problem with aircraft inventory and maintenance. It’s well
known that IAF has a severe shortage of aircrafts. It’s down to 30 fighter squadrons,
which in another few years will be whittled further to 26. This has created a situation,

~ where decades-old aircraft like the Mirage 2000 have to be upgraded to extend their

operational lifespan. Of course, only experienced private players should get big-ticket
contracts for defence production and maintenance.

The ‘Jugaad” approach simply cannot continue. It undermines our defence preparedness
and put our officers at risk. We need to ramp up indigenous production and creatc an
American-style military-industrial complex. This requires greater participation of the
private sector. Defense PSUs have a terrible track record as exemplified by the Light
Combat Aircraft Tcjas project. which has taken more than three decades to reach the
induction phase. '

frrforRae 5 (aTe) wesTieN (o 18 §) & forw fo<ar
e 4 78 et 1 9feu SR I8 YT SN T gig HeHis & v e
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UF TR AT aTgEeT @ §Es gHe § UH e 2000 FREE R 01/02/2019 @1 s #
fgam iFTTea fafiee & orge § 97 & s gHeam &, oed & IAF sl &t did &l
| 78 R g tieTees fabiee & & sadiE & man ol 98 M 98 9Re & T 918
gHeRd 8 T, o {6 fae % ofedt % A uw dfed geen @ ok " a8 98 gue
AT & a8 § gHeTIRT gT IAF ¥ R & 95 @ gt § o ofk dre &t 81 Sgs gHe S
RY F IR § TR TeE W & g 8 & $© RBAr 91 &2 3| 3 99 fouei & ai-
el 3R TE-T@E & Y UF TeT aadl & SR Hha a8 78 e @ 6 g argaen & o
fammt &t il &l 31 57 O B HH 30 TEIE @AIgH 8, S o $® ol ant § iR o &9 26
T B A | 3G UH Ry I & T8 8, 98T g9 O AW o R 2000 @ S i
SHa-orafl &1 e & fog st & & arm| faws, s argwdl faolt Raenfedt &1 &1 v S
3R T@-t@g & o @t 3% frem wle) g qaf OF & ol 79T @ gt 98 Bl wn Al

F AT A A ¥ o AN OTHEY F @R F S adl 2| &H @l IRd B e B IR UH

Il & @ i SN Hgw 9 B SaEEm ¢! 39 g fef e &t ok arfares fewdeErd &t

AT | T % I & IUHHT (PSUs) &1 fredr wrf-frsared Reré aga @ve & 99 e & fag

ST HANT TAGHIFE dor HIade & R Jaer ofae § 9ga & 19 a9 8 (s & @97 o feranl

P. T. 0.
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1. The name of aircraft crashed in Bengaluru on 01/02/2019 is :
(A) Jaguar 2019 (B) Airbus 320 = (C) Mirage 2000 (D) Tejas 2019
SRS F 01/02/2019 I GHEARRA &1 a w57 79 & -
(A) IR 2019 (B) TIEH 320 (C) R 2000 (D) 92019

2. The approach used to increase the lifespan of aircraft is :

(A) Total overhauling (B) Jugaad

(C) Upgrading internal technology (D) Changing all defective parts
fasT @t Sftew-omaty & g & forg 4 & 7% Teh g

(A) 0 T § Sig IR 70T S (B) e

(C) iaRe qaid & Sqie & (D) it el Wit @ qE

3. To setup, American-style military-industrial complex in India, which sector’s
participations are suggested ?° .
(A) Government sector (B) Private sector

(C) Autonomous bodies (D) Semi government scctor
aRA & el o & & e der @i s i g A A el s e R ™ & ?
(A) @I & (B) =it &=
(©) @ fram (D) w w8
4. At present the number of fighter squadrons IAF has :
(A) 25 (B) 26 (C) 28 (Dy 30
A #, TAF % 9T W61 g bl G @ ¢
(A) 25 (B) 26 (C) 28 (D) 30

5. The aircraft crashed in Bengaluru was upgraded by :
~ (A) Central Govt. military workshop in Delhi

(B) Bengaluru Aeronautics Limited

(C) Hindustan Aeronautics Limited

(D) Pune military-industrial workshop

STT6 H qHEI B A @ foae arqire fam ar ?
(A) H=T TN §F gy, Ref

(B) e Qiieaw fafiee

(C) fgwm QHTea faftcs

(D) g0 &fe sfenfies adbeg

703/B
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The day of the week. on birth of Haryana state i.e. on 01.11.1966, is :

'(A) Friday (B) Saturday (C) Monday (D) Tuesday |
efRaror T & sl v, 71 01.11.1966 W, q<E &1 &7 §
(A) TR (B) 9fEr (C) HrER (D) HTaR

A sum of Rs. 2,100 has to be used to give seven cash prizes to the students. If each prize

_is Rs. 20 less than its preceding prize, then number of times the maximum prize amount is

10.

703/B

more than minimum prize amounts, is :
(A) 1.2 (B) 1.3 (C) 15 (D) -2

et &1 a1 e gREBR 9 % faT 2,100 693 & SIS T4 & A 2] A T 0w JRERR S
¥ e 1A [HR & 20 599 &4 2, A SHAETH IR TR = JRER T & febd 3o S9rer ® 2

(A) 1.2 (B) 1.3 (C) 15 (D) 2

If the interior angles of five—sided polygon are intheratio 1 : 2 : 3 : 4 : 5, then sum (in
degrees) of measures of smallest and largest angles, is :

(A) 216 (B) 252 (C) 108 (D) 324

3f gifer SomeiT AT ST F GBI 1 22 1 31 4 : 5 F YA A B, O qyaH SR Feq B & Adi
%1 90 (fet ) ©

(A) 216 (B) 252 (C) 108 (D) 324

A sum of Rs. 10 is lend to be returned in 11 monthly instalments of Rs. 1 each, interest
being simple. The rate of interest charged, is :

1 :
(A) 9ﬁ% (B) 10% ©) 21%% (D) 22%

TIY 10 #F TF eI Qe &9 |, T4 699 1 & 11 71 et ¥ afve & & fog sar &
S | S TE o H A B

(A) 9%% (B) 10% (C) 21%% D) 2%

There are 65 students in the class and Rs. 39 are to be distributed among them so that each
boy gets 80 Paisc and each girl gets 30 Paise. The ratio of number of boys to number of
girls in the class, is :

(A) 3:2 (B) 4:1 (C) 2:3 (D) 1:4

uF & & 65 faeneft € ofik 39 But @ o g 3w yer faaRa e s & 6 gos @ @1 R0
49 iy & ofR yds wgal &1 30 39 e B e § et @ we & aefedl  §e § U &

(A) 3:2 (B) 4:1 () 343 D) 1:4

P.T.O.
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Directions for the following 2 (two) items no. 11 and 12 :

Read the information given below and answer the two items that follow :

There are 120 musicians in a club and 5% of them can play all the three instruments viz.
guitar, violin and flute. It so happening that the number of musicians who can play only
two of above mentioned instruments is 30. The 40 musicians can play guitar alone.

frreferfae 2 (1) wemiett (Ho 11 3R 12) & forg fdar
S & ¢ T @ qRT iR SE UeEq ST aTd &1 Heid % IR AR

13

12.

13.

14.

703/B

@mﬁlzowﬁﬁw%aﬁraﬂﬁ@w%weﬂﬁﬁmm,mmaﬂw@ EEIRE ]

78 §oay & T o eefment @ wem 30 @ o ow R 45§ @ Few 4 @ A = ¥
firert ao gem arg S haer 40 21

The musicians who can either play violin alone or flute alone are :

(A) 40 (B) 38 (C) 44 (D) 46

3 el ST AT O B aTafer a1 Gac g a9 A 8, Sl HeA ¢

(A) 40 (B) 38 (C) 44 (D) 46

The musicians who can play only one or all three instruments, are :

(A) 106 (B) 90 (C) 88 (D) 86

I GNEHRY, S Faw 0 1 @t S AT @1 a9 g 8, B AT &

(A) 106 (B) 90 (C) 88 (D) 86

In a factory capacity of a solution tank A is 70% of the capacity of the another tank B. If
Tank A’s full capacity is 14000 gallons and at one particular moment it is 80% full and
Tank B is 40% full. How many more gallons of solution are in tank A than in Tank B ?

(A) 4200 Gallons (B) 3200 Gallons (C) 2800 Gallons (D) 6300 Gallons

T HRE | O & 36 A 31 671 T6X &6 B F ST & 70% | A1 6 A 3 grget emmr 14000
et & 3R U @19 T T T 80% T 5 B 3R I B 40% TG 2| S A H 3% B #T AT
BIREACTE R ARG

(A) 4200 e (B) 3200 e+ (C) 2800 e (D) 6300 =

ABCD is a square of side 242 em and M, N are mid points of sides AB and AD
respectively. Then the perimeter (in cm) of trapezium BDNM so formed, is :

A) 26+42)  ®B) 220++2) (© 20+42) (D) 21+3+2)

ABCD ¥ 24/2 &t &1 & a1 & &k M, N %79 5ot AB ofR AD & weg fag 31 1 77 7@
19 T guad (2ffeEE) BDNM & aRam (& #) 2

A) 26++2)  (B) 22++2) (© 20+42) (D) 21+3+2)
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15. The least multiple of 7, which leaves a remainder of 4, when divided by 6, 9, 15 and 18.

15 1

(A) 844 (B) 704 (C) 364. (D) 94

ST 7 1 98 TR O 4 & e o 6, 9, 15 o 18 & fasifor e o & 1 49 4 qmar g ?
(A) 844 (B) 704 (C) 364 (D) 94

Directions for the following 5 (Five) items no. 16 to 20 :
Read the information given below and answer the five items that follow :
The five cities A, B, C, D and E are connected by different modes of transport as follows :
(i) A and B by boat and rail
(i) C and D by bus and boat
(iii) B and E by air only
(iv) A and C by boat only
(v) C and E by rail and bus
Preferfae 5 (afer) wediel (o 16 & 20) % fom s -
13 & TE T @ T 3T S G9ETq ST aTe 919 S & ok AT ;
of e A, B, C, D #iR E ufidest & R Tiat an (e Ser & orid § 98 g e -
() A SR B 19 3R & &1
(i) C 8 D §F 37T 79 &R
(iii) B SR E &ad fa# 5100
(iv) A ¥R C %a¢ 719 50
(v) CRE 3R 8 g1

16. Without changing mode of transport, which mode of transport would help one to reach C
starting from B ?

(A) Air (B) Bus (C) Rail .(D) Boat

qftges ¥ T & ggal (&, GREE B B 0@ G B B F G Bb C T TgA H S
& ? )
(A) fEm (B) = €) @ (D)
17. If a person visits each of five cities starting from A, which city he visited twice ? -
(A) D B) C (C) B D) A
I s ARE, A § TN B GO T $1 A ST 8, A H-9 R H G & IR A B 7
(A) D By ¢ (C) B (D) A
18. Between which two cities, maximum travel options are less than four ?
(A) (B,D) B) (A0 € B.0 (D) (A, B)
FA-Y 31 el & 41 feman g fawd TR G 4 8 7 |

(A) (B.D) B) A0 ©) B.0) D) (AR

703/B : B LG
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Which pair of cities are directly connected ?

(A) (A E) (B) (A, D) () (B.D) (D) (B,E)
&L 31 78 P-4 3 & e st smrw A @Y e d ?

(A) (AE) (B) (A,D) (€ (B.D) (D) B, E)
The cities where one can’t travel by air, are :

(A) A,B (B) A,D,E (C) A,B,E (D) A,C,D
T gt PIN-§ & el g ofr arfn fomret g e o e 7

(A) A'B (B) A,D,E (C) A B,E (D) A,C,D

Directions for the following 5 (Five) items no. 21 to 25 :

Read the information given below and answer the five items that follow :

In each question below are given four statements followed by three conclusions numbered
I, I and III. You have to assume the given statements to be true even if they seem 1o 2¢
deviate from commonly known facts. Read all the conclusions and then decide which of
the - given conclusions logically follows from the given  statements, disregarc:nz
commonly known facts.

" P 5 (ot weisi (Fo 21 & 25) ¥ farg R
ey &) T TR P UMY S IS G S aTel i G B IR AT

21.

703/B

F Y R 7R vy ¥ AR e Ry T E e o & s 1, T e I RY T E | I
T FRT @ GE AT A T ¥ e o ae @ e A 5w A dl g e =
afew o T vvEq vl Wi 6 R T frepst § & 29-4, R W & § ge W E s
B &, g 3 al &l wae el e

Statements :

All desks are pillars.

All pillars are circles.

Some circles are squares.

Some squares are rectangles.
Conclusions :

I.  Some rectangles are pillars.

II. Some circles are desks.

III. Some squares are desks.

(A) Only I follows (B) Only II follows
(C) Only III follows (D) Only I and II follow
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T
Tt 3 T 2|
aoft sy 9 2|
3O 97 a9 2|
PO T T &l
forepef :
I TS omad T Bl
. %93 5 ot
M. F® 3 & &l
(A) Faw | STHI AT &

(C) Faw 11 T FIAl &

Statements :
Some plates are knives.
All knives are chains.
Some chains are wheels.
All wheels are poles.
Conclusions :

I.  Some poles-are chains.

II. Some wheels are knives.

III. Some chains are plates.
(A) OnlyI follows |
(C) Only I and 1I follow
FT :
PG @ TG 8
Faff o R 2,
F© e U 2|
goft a2y 9 &
frrese
I. PO U SOl &
II. 3© 9y =g 2!
. F© e we &l
(A) FAT T STTA & &
(C) A [ 3 1T STTaR &d &

The Vision

(B) %A 11 STER0 &l &
(D) %A« 1 31 11 STTERT &

(B) Only I and Il follow
(D) Only II and III follow

(B) %aw I 3R 111 S0 & &
(D) et 11 37 111 STl & &

P.T. O,
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23. Statements :
Some roses are flowers.
Some flowers are buds.
All buds are leaves.
All leaves are plants.
Conclusions :
I.  Some plants are flowers.
II. Some roses are buds.
HI. No leaves are roses.
(A) Only follows . (B) OnlyIand II follow
(C) Only I and III follow (D) Only II and III follow
FET .
O 79 & &
O B FHiorr 2|
FB Hiedl gfoar 2
FHI afer Qg 2|
freF
I. oAl
IL. 3% Ta9 il 2,
III. @ 9 Jere A8 &l
(A) 9 | SATERT T 2 (B) ¥a% [ 3 I srgemer 07 &
(C) ¥aw [ 3 [ STga &2 & (D) Faa 11 R 111 37587 7= 2

24, Statements :
Some shoes are socks. J
All socks are towels.
All towels are bedsheets.
No bedsheet is blanket.
Conclusions :
I.  Notowel is blanket.
I.  Some shoes are towels.
[II. Some shoes are bedsheets.
(A) Only I and II follow (B) Only I and III follow
(C) Only II and III follow (D) All follow

703/B
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FYT
B IJ I 2|
g+t g0t tfers |
gsft diferd Tt &
PIE AT HHET el 8
fAepef
I % qiferr s 78 &
0. 3% aifed &)
L PO ARl &
(A) a1 &fR 11 ey & & (B) et 1 3R 111 STaor &y &
(C) e I1 &7 II1 STeRw ey & (D) gsft e ww @

25. Statements :
All chairs are tables.
All tables are telephones.
All telephones are cell phones.
No cell phone is computer.
Conclusions :
[ All cell phones are tables.
II.  Some chairs are computers.
III.  No chair is computer.
(A) OnlyT follows (B} Only II follows
(C) Only IIT follows (D) Only either II or ITI follows
FYT :
a+] piiar a9 &1
GEICERCEIE ]
g TR Fohr £
% AAH Bt 7 ¥
ey
I st da ot )
1. F® FRiEr Frge €
. 1 FE R T2 &1
(A) A I STFERT T & (B) e I1 SH T 2
(C) aa III ST R & (D) & A1 A1 11 3T 111 STeRoT & &

703/B : P, T 0,
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The number of times 3 appear, number writing from 1 to 1000, is :

(A) 243 (B) 246 (C) 297 (D) 300
1 § 1000 7% §&U fora W, /% 3 el a) yde 27 & 7
(A) 243 (B) 246 C©) 297 (D) 300

Directions for the following 4 (Four) items no. 27 to 30 :

Read the information given below and answer the four items that follow :

Once, an ant who had come to drink at a stream. fell into the water and was carried away
by the swift current. She was in great danger of drowning A dove. percheu on a nearby

thls and was safcly out. Sometime after this, a hunter, crecping lhrongh the bushes. saw
the dove asleep and look a careful aim with his gun. He was about to fire. when the ant,
who wasnearby, crawled forward and bit him sharply on the ankle. The hunter missed his
aim and the loud noise of the gun awakened the dove from her sleep. She saw the danger
and flew swiftly away to safety. Thus, the ant repaid the dove. for having saved her life in
the foaming current of the stream.

freferfer 4 (am) wedisii (&o 27/ 30) ¥ forg Frdar -
A &t T A A gfen ofR 9EE gvard o 9 AR 9l F T A

27.

703/B

U IR Qe el ST O 719X 91T 4t @1 o, uiell & 577 7% &5 77 57 5 g0 597 41 | 98 @
% 93 G § fI| UF SR o U e 9 W 821 g3 9, 39 =12 F =7 3 orwy o o ¥ us
o @t Ry Rl =) o8 R =8 T ofR SUEE® et 57 | 38w 35 T 7, 7% R ¥ i
ﬁ%%ﬁ@%@%mvﬂm@n%aﬁrwﬁaﬁgn*m%ﬂfu T T g
AT o, W A, S P & of, it & o v ofR TFF Ty WA § 5 B e & B
TF T AN 95F B S AW T FEH & IGS A% T T R7l 9T Ta g o T A )
FHT @ R I3 71| 59 9@, A T FER B 9z @ 2, aa%-ﬁaq%*w:ﬁﬁm
ST 917 | F & fa

The ant repaid _}_h_e dove by :

(A) Having love with dove (B) Droping leaf in water
(C) Saving the life of dove from animals (D) Biting the hunter
et T HER & T g AT

(A) FHR § I Hh (B) 9 & I § R
(C) FIRFAMHI @ IR AFE (D) ol & Frea

-
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29.

30.

31.

32.

33.
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The dove was in danger because :

(A) A hunter was about to shoot him (B) There was some big animal nearby
(C) It had fallen off the branch (D) Carried away by the swift current
Bl gaX | o1 Fiid

(A) TS Il SHFT AT AR 91 o (B) U® eI A SE-UT9 o1

(C) Feerel &+ framrar - (D) @8 9 9ry &Ry 981 far mr
The dove dropped a leaf into the water to :

(A) Drown the ant | (B) Save the ant

(C) Measure the current level (D) Perchon.it

e ¥ AR o P

(A) i FI ZaTH AR & [0 (B) i & 5= % o _

(C) 9T & TR AT & [T (D) 7T fearmm a9 & fog

The ant came to the stream to :

(A) Carry out some water for kids (B) l.ook at the swift current

(C) Drink from it (D) Take bath in it

ATeT Tl & 919 S ¢

(A) =1 & [0 & TH A B (€U (B) o9 TR & 3@ & g

(C) =&H & 9l 9 & g (D) &4H T & g

The ‘Shoe’ is related to Leather in the same way as ‘Rubber’ is related to :

(A) Plastic (B) Latex (C) Polythene (D) Sleeper
TR & oy deia 3 a9 B e wdh #

(A) @i § (B) weaq ¥ (C) T d (D) WRA

Nupur walks 9 km East, turns South-West and walks another 8 km. She again takes a turn
towards North-West and walks another 4 km. In which direction from her starting point is
she standing now ?

(A) South-East (B) North-East (C) West (D) East

o &t it 9 foly el 2, R eferor-afiem & o et 2 &k 8 fobdt wwrell ®1 9 O R-afem
1 SR et & 9T o 4 Fefy =it 81 qe oot i fog & by faom A o @t 5 7

(A) feror-gd (B) -3 (€) dfem D)
The sequence of nﬁssing alphabets in the series PQR | RSP |RS | SPQ _is:
(A) SQQPR (B) TTSQR (C) SSQQR (D) SQPQR

BT

11 -
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Z9t PQR _ | _ RSP |RS __| SPQ _H SgUIAq &R &l ST &
(A) SQQPR (B) TTSQR (C) SSQOR (D) SQPQR

In Chess tournament each player will play with all other players.twice. If total matches
played in the tournament are 272, then the number of players who participated is :

(A) 16 (B) 17 (C) 19 (D) 23
R & G Jiadifar § gl Reardl g woft faenfedt & aror & ar @) o &9 s §
P9 272 ¥ @ T, 0 A gfadier § o are faenfedt @ gen @

(A) 16 (B) 17 <] 19 (D) 23

If the word *TEMPLE” is coded as *VHOURI.", then code for word ‘SITARAM . is :
(A) ULXFXHU  (B) ULXFYHU (C) ULXGXHV () ULXFXHV
e 9% ‘TEMPLE’ &I ‘VHQURL’ ¥ $ed& Rea ST 8, 1 = SSITARAM® & 0 FTE
(A) ULXFXHU  (B) ULXFYHU .. (C) ULXGXHV (D) ULXFXHV

Directions for the following 4 (Four) items no. 36 to 39 :

Read the information given below and answer the four items that follow :

703/B

The modern civilization is completely depending on energy. which has therefore to be
abundant and also economical. About 90% of the world's energy is supplied by oil, coal
and natural gas, while nuclear, hydro, wind and solar power and biomass supply the rest.
Coal, nuclear and hydro are used primarily to gencrate electricity while natural gas is
widely used for heating. Biomass is used both for heating and cooking. The wind anc
solar power is the future’s hope as they are sustainable energy sources. Oil powers almost
all machines that move and that makes oil uniquely versatile. Oil powered airplanes carry
500 people across the widest oceans at nearly the speed of sound. Oil powered machines
produce and transport food. Oil powered machines are ubiquitous. Clearly, we live in the
age of oil but it is drawing to a close. According to data available if oil production
remains constant until its gone, there is enough to last 42 years. Oil wells will produce
less as they become depleted, which will make it impossible to keep production constant.
Similarly, natural gas and coal will last another 61 years and 133 years respectively.
Naturally, as they become scarce, they become expensive. leading to a worldwide cnergy
crisis. If we are to survive on this planet, we have to make a transition to sustainable
energy sources. The transition may be willy-nilly or planned — the choice is ours.

The drawing era of limited and expensive energy will be very difficult for everyonc on
earth but will be even more difficult if it is not anticipated. It is of utmost importance that
the public and policy makers understand the global energy crisis and act fast to ensure that
the energy sources do not become extinct.
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T & 7€ S B 9y SR SHE gwETy ST AT R Geid & SR A

36.

37.

38.

703/B

My R O a8 § o W R R 8, gl owd R T =Ry of fehwradt oft| HeR
B T 90% Tt @ MIff A, FI R THH T F &R &Rl &, A AHBT, AAE, GaT
S € o o 37 da AW o @ R B #| Braw, TRWE o T B ST Ferr
Ristelt Seares % forg & & qafd welie {9 &1 S9E @9E §9 § a9 & g 8T 81 o9 g &
TGN AT SR A g et & Erar ¥ ga oK @R aRe sfasy @ amen & it 3wty o %
a1 3w s gl wef, o "ot &, 9tk ¥ € o) 78 i G @ faftre & & aggelt s
2| 99 § Soifyes g4 TN TS @i @ AR A 500 T B AIE THAI  FR-GR A A0 & | q F
Segeh wsi @ geret &1 Sere e & R ST g S 8| I & St gep Al w2
e w7 g, w%%g#w@_@éﬁwﬁa@wmmw%lmmaﬁw RIERGE
%I TATE ReR &1 & 9 d% 98 e ALl 8 S, a1 SA 9T TS dw @ 3 42 a9 q% g0 9l |
¥ % PO S-S Wl B S &, I SR T A el S, S HROT SHHT Geare R W g
T & STl Sdt ARE @, IS 16 O SiawT HA 61 a8 o 133 a9 96 o T ol
wTRE &Y G, 8- el g o g, ¥ Fel & o 2, Bred fasg sRH O St dee de 8
orer | fX B 39 7E W o B, o g6 unuiiy Sl Al & i giRafdd BT Rl g8 giiad
ST BT AT IOHTEE B T & — TA BRI & B ST Al SHoif &1 ST Jrer T gt a7 72,
% g S8 Sied & Sfe oY st STTaT ®feH. & Al T @A Tel (a1 Sl gl I8 S
Hémg\Ui%%mnieﬁT#ﬁfﬁﬂfﬁTﬁWWEﬂﬁﬁwﬁ Gﬂiﬂggﬁ‘fﬁﬁm%ﬁm%ww
q 7 B A, $fie HEaE! oL

The theme of the passage is :

(A) Changing lives (B) Looming energy crisis

(C) Energy resources (D) Power in today’s world

(A) FIAA @A (B) Tl e HSTT

(C) i & € (D) oIS &I 341 & 9Ifh
Biomass is an energy source used in :

(A) Agriculture (B) Industry (C) Homes (D) Offices -
37 49 UH il HIq & S JART B

(A) FH (B) wENH (C) WA (D) THH
The energy sources for the future are :

(A) Nuclear and hydro power (B) Coal and natural gas

(C) Wind and solar power (D) Oil and biomass

PFAD.
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W m Rt Eme: -
(A) i SR ST afEd (B) P &R G&s T4

(C) 9o SR GR itk (D) U IR Eu

39. The survival of mankind will depend on :
(A) Maximum usc of available energy resources
(B) Transition to sustainable energy resources
(C) Regulation placed on energy consumers

(D) Keeping the level of energy production constant

T ST 3 ERaiaar e St

(A) Iuwe Sat st & AfHaH SHIRT 5T
(B ref St i B Si R

(C) Tl SuHRREI 9X Sfgfz Fe T
(D) Fif I 1 &R R W@ T

40. The difference between the interest received from two different banks on Rs. 750 for 2
years is Rs. 90. The difference between simple interest rate charged by two banks. is :
(A) 2% (B) 4% (C) 6% (D) 8%
=0 750 T 2 7 35 R ST eI S & 9 =7 7 w7 579 90 ) & I g A
HTTT & &4 & 1 3 8

(A) 2% (B) 4% (©) 6% (D) 8%
Directions for the following 5 (five) items no. 41 to 45 :

The following 5 items are based on the following passage in English to test the comprehension o
English Language and therefore these items do not have Hindi version.

Preaferfae 5 (dta) Fewiel (Ho 41 & 45) & forg fordar :

B 5 gedier oht & Srfaia oy © e & i i W F avee % ghEw F T 8l e
& YIS @ ey Te W faar o @ Bl

“The emancipation of women,” James Joyce told one of his friends. “has caused the greatcs
revolution in our time in the most important relationship there 1s — that between men an
women.” Other modernists agreed : Virginia Woolf, claiming that in about 1910 “huma
character changed,” and, illustrating the new balance between the sexes, utged. “rcad th
‘Agamemnon,” and see whether — your sympathies are not almost entirely wit
Clytemnestra.” D. H. Lawrence wrote, “perhaps the deepest fight for 2000 years and more
has been the fight for women’s independence.”

703/B
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But if modernist writers considered women’s revolt against men’s domination one of their
greatest and deepest themes, only recently — in perhaps the past ]5 vears — has literary
criticism begun to catch up with it. Not that the images of sexual antagonism that abound in
modern literature have gone unremarked, far from it. But what we are able to see in literary
works depends on the perspectives we bring to them, and now that women — enough to make
a difference — are reforming canons are interpreting literature, the landscapes of literary
history and the features of individual books have begun to change.

The title. best describe the content of the passage. s :
(A) Towards a New Criticism

(B) Modernist Writers and the Search for Equality
(C) The Meaning of Literacy Works

(D) Transforming Literaturg

The author’s attitude toward women’s reformation of literary canons can best be described
as one of : :
(A) Skepticism (B) tndorsement  (C) Indifference (D) Ambivalence

The author quotes James Joyee, Virginia Woolf, and D. T1. I.awrence primarily in order to
show that : \ '

(A) These wete feminist writers.

(B) ' Although well-meaning, they were ineffectual

(C) Modern literature is dependent on the women’s movement

(D) The interest in feminist issues iS not new

According to passage, women are changing literary criticism by :
(A) Noting instances of hostility between men and women

(B) Studying the works of early twentieth century writers

(C) Reviewing books written by feminists

(D) Secing literature from fresh points of view

The word not describe the meaning of “emancipation”, is
(A) Freedom (B) Liberation (C) Restraint (D) Freeing

The number of different pizza orders can a customer place, if he has options with 3
different crusts, 2 sauces and 10 different toppings are :

(A) 120 (B) 60 (©) 216 (D) 64

UE e E1 (33 o aed At (e e ST & e Reae B, af v e 3 fafee aofedt
(), 2 Trefwt (dTa) ok 10 fafir @it o foed & 7

(A) 120 (B) 60 : (C) 216 (D) 64

03/B P T80
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47.

48.

49.

50.

The Vision

Kanika said to her friend that yesterday, I attended the birthday party of the son of the
only son-in-law of my mother’s mother. How is Kanika related to the man whose birthday
party she attended ?

(A) Daughter (B) Mother (C) Sister (D) Niece

BT T A0 o & et o et A7 oIt AT HY AT & THAI: Al H GF B TEE o F 0w
foram| s s afts @ fa ger Hdfea @ Rrget T ot & gaq 9 foar 2

(A) T - (B) 5w (C) & (D) s
The next number in series 2, 3/2, 10/3, 15/4, 26/5, ...... , 1§
5 1 ' 3 5
A) 5- B) 6— C) 77— D) &-—
(A) z (B) c (©) : (D) -
it 2, 3/2, 10/3, 15/4, 26/5, ...... ,H STl g #
5 1 5 5
A) 5= B) 6- C) 7= D) &—
(A) . (B) : (®) . ( >
The three of the follov\}ing are alike in a certain way so as to form a similar group. Which
one does not belong to that group ?
(A) Plant (B) Branch (C) Root (D1 Leaf

e i s N e BT e e R w2 f = == === === 2| HN-91 & I
HYE H Ha A&l & 7
(A) T (B) &t (C) =% D) it

If the sum of squares of 3 distinct numbers is 1, then the sum o7 their product taken two at

a time, lies in between :

51.

52.

703/B

l and | (D) ~l andE

2 2 2

i 3 o denatl & a1 & A 1R, @ S [EEAT (TF T T 2 FE ad W) & A9 s a1
# Eh ¢

(A) +-;— and 1 (B) % andl % (C)

1 1 3 1 s . 1 3
A) ——3&R1 B) — x> C) — Rl D) —-— &R =
(A) > (B) > i ©) i (D) > 5
The remainder when a number 2851 x (2862)2 x (2873 }3 is divided by 23, is :
(A) 5 B) 17 . (C) 18 (D) 19
T T HE 2851 x (2862) x (2873) @ 23 & fasnfia vy v B, oy v v B
(A) S B) 17 (C) 18 (D) 19

The number of zeros at the end of the number obtained, by multiplying the numbers from
1 to 100 will be :

(A) 16 (B) 20 (C) 24 (D) 36



53.
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1%Tlooa%mﬁﬁ@mﬁa?rgmaﬂﬁﬁmgém%aﬁﬁﬁﬁ%sﬁqéﬁ”
(A) 16 (B) 20 (C) 24 (D) 36

A person makes a profit of 20% by selling a article. The percentage change in profit, if he
purchased the article at 20% less and sell it 10% more, is : '

(A) 50% (B) 8% C) 15% (D) 20%

% s T TG B T 20% F1 AT Ao B g1 ;a7 20% P IR 5] GET § AR IHH!
10% 31 9% 3T &, A1 7w ¥y oRed @ '

(A) 50% (B) 8% C) 15% (D) 20%

The triangle ABC with perimeter 56 and sides BC = x + 1, AB = 4x and AC=5(x — 1) is of

type :

(A) Right angle triangle (B) Obtuse angle triangle

(C) Equilateral triangle (D) TIsosceles triangle

g::%rgaABCﬁmwaﬂ%mﬂqﬁm 563X JoE BC = x + 1, AB= 4x #XAC = 5(x - 1)
7

(A) TR&H B (B). 3@ @I0r F3139a

(€ FwsTg ot (D) FHfeaTg B

The first bunch of bananas has 1.3 times excess to as many bananas as in the second
bunch. If difference of bananas in two bunches is 12, then total number of bananas in two
bunches, is : :

(A) 46 (B) 40 (C) 63 (e 92

3ot % T D B T 1 T A 1.3 9T AT ¥ £ R 2 et ¥ A o 123, 2
T § B Hell Bl GEAT @ :

(A) 46 (B) 40 (C) 63 (P92

The sum of ages of a father and son is 45 years. Five years ago the product of their ages
was four times the father’s age at that time. The twice the difference, of father and son’s
age is : ' _

(A) 72 ' (B) 45 (C) 90 (D) 54

TF e 3R 3 #3145 a8 3| o o gER IAE oY & O 98 THY 9T fUdT 1 $7g
o1 T T 47| PR T O @Y g % ST B LT E

(A) 72 (B) 45 (C) 90 (D) 54

In cyclic quadrilateral WXYZ, the measure of angle Z is 10 more than twice the average
of the measures of other three angles. The measure of angle X, is : .

(A) 150 (B) 30 (C) 120 ' (D) 60

CEIRIOGKE] WXYZ &, E 7 &1 99 o i Bt A 6 ofred B g & 10 offs &1 B X F
g #

(A) 150 (B) 30 (C) 120 (D) 60

i e B
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Brand I solution of sugar syrup has 15% sugar and another brand II, solution has 5%
sugar. The quantity in litres of the second solution, must be added to 20 litres of first
solution to make a solution of 10%, is :

(A) 5 (B) 10 (C) 15 (D) 20

TN FRETHIE [ F AT T 15% AT & 3R a9 5198 11 & a1 & 5% 1 2l 50 9| @t
20 forex 7T & gEv A A e wEn, forex 7, e ol ey @ifs g8 10% =T arer 8 5% 51 0

(A) 5 (B) 10 (C) 15 (D) 20

Directions for the following 2 (two) items no. 59 and 60:

Read the information given below and answer the two items that follow :

(i) P,Q,R, S, Tand U are six members of a family, each of them are engaged in some
different professions viz. Doctor, Lawyer, Professor, Engineer. Pilot and Manager.

(ii) Each of them stay at home on different day of the week, starting from Monday to
Saturday.

(iii) The Lawyer, in the family stay at home on Thursday.

(iv) R remains at home on Tuesday.

(v) Pis adoctor by profession, does not stay at home on Wednesday and Saturday
(vi) S is neither the Doctor nor a Professor and remains at home on Friday.

(vii) Q is the Engineer and T is the Manager.

freferfaa 2 (31) weHieh (Ho 59 3R 60) & fore fadst
A &) 1 et B afRT SR S gt ST AT &1 Geie & T I

99.

() P,Q R S, T 3R U 0% IRaR % & Ta& & 37 § IS UH (99 Faa # 7+ & 37 f&
gfFt, @i, TIhaY, SHINTY, e 3R A9

(i) 3T & 5, FHIR F & P AR T, T ¥ 0 B R W R R R B

(111)QﬁWﬁWWﬁWQTW%l

(iv) R B O AR HI S&T 2|

(v) P IaE™ § UF FeL B, ﬁmwgwﬁﬂsﬁmwaﬁm%l

(vi) S & 2aex & 3R T & U MHER 3R 98 | | YAAR I & 2!

(vii) Q TR & 3K T AR B

Who is the Pilot ?
(A) S
(B) R
C) U

(D) Can’t be determined from given information

703/B
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ITaeE I & 7

(A) S

(B) R

© u

(D) & srerd & Fraffa T i o T

Which of the following combination is correct ?

(A) Pilot-Friday (B) Lawyer-Tuesday
(C) Professor-Wednesday (D) Engineer-Thursday
Rrmfarfag # § #F-91 990 @818 7 s

(A) TTERE-JHAR (B) FHI0-HITEER

(C) HHR-FHR «(D) FHFE-TEAR

The probabilities of four mutually exclusive and exhaustive events A, B, C and D, satisfy
the relation : 2P(A) = 3P(B) = 4P(C) = 6P(D). The probability of event C is :

(A) 2/15 (B) 1/5 (C) 4/15 (D) 2/5

TR TR ST i FLA wel A, B, C 3R D % ¥t g9 : 2P(A) = 3P(B) = 4P(C)
= 6P(D) F1 FT=FE &l T2 C Y A1 5

(A) 2115 (B) 1/5 (C) 415 (D) 2/5

A student has 1234 marbles. He wants to arrange them in equal number of rows and

~columns. The minimum number of marbles that he need more for this purposc are :

(A) 62 (B) 9 (C) 3 (D) 1
qasﬁma‘f%qmmz;ﬁ%lﬁmwmmﬁmaﬂrwﬁﬁmm%lweﬁw
%%ﬂaﬁﬁﬁﬁﬁwm,mﬁaﬁaﬁsﬁmﬁ,%:

(A) 62 (B) 9 ey 2 (D) 1

Three persons A, B, C had different amount of money with them. C had an amount equal
to the average of their total. A spent half of his money, B spent 2/3 of his money and C
spent all of his money. The remaining amount with them is equal to half the amount, B
initially have. The percentage of total amount spent by all together, is

(A) 50% (B) 75% (C) 80% (D) 90%

drt @fE A, B, C % T SIT-9@ ARieE g #AfE C 2t iy Y wtwdt & g A B A
% aE 31 A o o TR & & @1 8, B AT 2/3 i @ e 3 ok C e o afer o
7 27 3| o 4T % o e g% T, B @ 99 ARy A onedt H e ¥ 1 B % qE & § o1l gl
AT % 2T e @ T G AR & A #

(A) 50% (B) 75% (C) 80% (D) 90%

P.T.O.
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Directions for the following 2 (two) items no. 64 and 65 :
Read the information given below and answer the two items that follow :

Five cities A, B, C, D and E are famous for one among : big gardens, rivers. educational
institutions, mountains and scents but not in the same order.

(i) AandC has neililer educational centers nor have big gardens.
(ii) B and E are not famous for rivers or mountains.
(iii) - Scents and rivers have nothing to do with city A.
(iv) D and E are not famous for big gardens and rivers.
(v) D isnot famous for educational institutions.
e 2 (37) wewiel (Ho 64 3R 65') & foro foden
< € ¢ TEER S 9feU SR IHG ULATS 3T, aTer &1 G & STk AN :

9fa VA, B, C, D 3R E 5% § UF & (WU UI¥S & : 9.3, 7123, SH0& 8850, 527 3% &
oifd &9 A § Tl

() ASIRCH 78 $&fs &% & o 7 & 58 var |
(ii) B 8 E AR a1 v4q # forw ofrs 78 &
(i) ST&T A &1 & iR e & 7197 FF q-a1 el 2
(iv) DR E & F@mi ol e % fe 7fts e 2
(v) D dfevs geamis for ofes 78 & |

64. The city E is famous for:

(A) Rivcrs (B) Big gardens
(C) Educational Institutions (D) Scents
et E s g afig & 7
(A) FfRar (B) @M
(C) dufirs FwI= D) &
65. Which of the following city is famous for big gardens ?
(A) D - (B) E (€ € (D) B
Ferferfr & & @i-a aret 98 gl % fog wRig & 7
(A) D (B] E €y € (D) B

703/B
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Directions for the following 5 (five) items no. 66 to 70 :

The foliowing 5 items are based on the following passage in English to test the comprehension of
English Language and therefore these items do not have Hindi version.

PrmferRaa 5 (i) wedisl (Fo 66 & 70) ¥ forg fdar

FrefRif 5 gemier ofist % Rrefuf TRee ) omarRa & ofX sl wrer % e % qhe & g 21 o
= weAte & Rt are & R o @ Bl

66.

67.

68.

69.

703/B

Both plants and animals of many sorts show remarkable changes in form, structure,
growth habits and even mode of reproduction in becoming adapted to different climate
environment, types of food supply, or mode of living. This divergence in response to
evolution is commonly expressed by altering the form and function of some parts or parts
of the organism, the original identity of which is clearly discernible. For example,
creeping foot of the snail is seen in related marine pteropods to be modified into a
flapping organ useful for swimming. and is changed into prehensile arms that bear
sectorial disks in the squids and other cephalopods. The limbs of various mammals are
modified according to several different modes of'life — for swift running (cursorial) as in
the horse and antelope, for swinging in trees (arboreal) as in the monkeys, for digging
(fossorial) as in the moles and gophers, for flying (volant) as in the bats, for swimming
(aquatic) as in the seals, whales and dolphins and for other adaptations. T_he structures or
organs that show main-change in connection with this adaptive divergence are commonly
identified readily as homologous, in spite of great alterations.

The most dppropriate title for the passage, based on its content, is :
(A) Adaptive Divergence (B) Evolution
(C) Unusual Structures (D) Changes in Organs

The word that can be best substituted for “homologous™ without substantially changing
the author’s meaning, is :

(A) Altered (B) Mammalian (C) Corresponding (D) Divergent

The creeping foot of the snail is seen in related marine pteropods to be modified into a
flapping organ useful for :

(A) Biting (B) Swinging (C) Swimming (D) Jumping

The author in this paragraph not provide information on :
(A) Factors causes change in organisms

(B) How are the horse legs related to seals flippers

(C) Limbs of various mammals

(D) Theory of evolution
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The author’s style can best be described as :
(A) Humorous (B) Patronizing (C) Esoteric (D) Objective

Directions for the following 2 (Two) items no. 71 and 72 :

In each of the following two items, a statement is followed by some conclusion. Choose the
correct answer for the conclusion.

Frferfaa 2 (37) wewielt (Fo 71 3R 72) ¥ fomg foder
A Y T geiel 7 o #, U Fu & A e fRan mar 81 freed % o @ o gl

~ 71. Statement : After rice, raw cotton, cotton fabrics and carpets are a country’s larges

foreign exchange earners.

Conclusion : At first rice was country’s largest foreign exchange earner. Subsequently it
was replaced by raw cotton and cotton fabrics. Now both these commodities
have been replaced by carpets.

(A) Definitely frue (B) Probably true

(C) Probably false (D) Definitely false

FY : AW & SIE HUTE, Yol HYS & g 3T Bl U a9 & (9280 1 % qa g8 7S 2|

freps ; T qed F7aw 9 @l faelt qaT & G992 oS A7) 36 918 HIE A Al F9S & I
ST W & (AT §6 §HE EIE | & ST qud qaTet &1 1 o ford 2

(A) Fieg s g adr? - (B) H9aq: HEI &

(C) ©9aw: @& | (D) FRegsg § e 2

72. Statement : The excrcise has taught me that the silence is part of the spifitual discipline of

703/B

-a votary of truth. Proneness to exaggerate, to suppress or modify the truth
willingly or unwillingly is a natural weakness of man and silence is necessary
in order to suppress it.

Conclusion : Silence is very essential for spiritual growth. Without silence a man
becomes gullible and distorts truth. For the discovery of truth. silence is
very essential.

(A) Definitely true (B) Probably true

(C) Probably false (D) Definitely false

FT: e Y R Rt R & B f v % ouet ¥ wrentEe sged & 06 o 2
Ffaerfes & o ggfty, Qw1 § a1 e § = &1 29T 31 fEd oRads & v
o T WIATTad T & AR THH IHT & & (A0 719 Aa%a oi

fAer ; st fawg & foU 919 9gd o &1 9 & faeT @ A ier- A 8 e @ i
FeTs $ faga a1 8| T S @ & o, H9 954 S99 ¢

(A) ffeas & & a2t & (B) dwad: 9el &

(C) |9aa: T & (D) fafeas w7 & o &




73.

74,

75.

76,

T

The Vision

23

The sum of all four digit numbers obtained by using digits 1, 2, 3 and 4, is :

(A) 100000 (B) 60000 ~(C) 66600 (D) 66660

@i 1,2, 3 SR 4 BT J4NT &0k 9T B et @Y IR siedy e @ A E
(A) 100000 (B) 60000 (C) 66600 (D) 66660

If average of four numbers is 20 and average of their squares 1s 500, then average of their
products taken two at a time, is :

(A) 450 (B) 475 (C) 550 - (D) 650
i IR demalt & shwd 20 & ok 3% 7 &7 o 500 8, W 3% UL, OF AR § &7 a9 g
&1 e & - |

(A) 450 (B) 475 (C) 550 (D) 650

The incomes of A and B are in ratio 4 : 3 and their expenditure are in ratio 5 : 2. If each
save Rs. 4,900, the expenses of B, is :

(A) Rs. 1,400 (B) Rs. 1,500 (C) Rs. 1,600 (D) Rs. 1,800
A ST B &1 9T 4 1 3% o7 & & ofit o @ 5 ¢ 2 % ot § 31 3R 990 4,900 B9 & F
HWE, O B &1 @ 2

(A) 1.400 %5 (B) 1,500 %o (C) 1,600 %0 (D) 1,800 %0

On selling an item at Rs. 40 per kg a loss of 10% is incurred. If total loss of the seller is
Rs. 80, then weight of items sold in kg, is:

(A) 18 (B) 20 (C) 21 (D) 24
wmﬁmmﬁwﬁr%éﬁw10%awmm%iaﬁﬁﬁWW@msomé,ﬁr
aeft T Tl & AR A A A

(A) 18 (B) 20 ©) 2] (D) 24

A shopkeeper claims to sell items at no profit no loss. If he underweights items 800 gram
in place of one kg and adds 20% impurities, then his profit percentage will be :

(A) 20 (B) 30 (C) 50 (D) 55

U% GBI A T /T 9 TGl BT 3= F7 G Xt 2| AR 7w agol A7 &7 o s a1 0
T & T2t 800 T e & o IEH 20% arqrfer forer e &, a9 T ey SR A -

(A) 20 (B) 30 (C) 50 (D) 55

Directions for the following 3 (Three) items no. 78 to 80 :

Answer the following three items based on five numbers 386, 752,961, 573 and 839.

freforir 3 (i) memtiett (Fo 78 & 80) ¥ for Frdsr -

703/B

T Fea 386, 752, 961, 573 9K 839 T amaTRa Pt o werist % s Sl

il
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If in each number the second and the third digits are interchanged, what will be the sum of

the first and third digits of the largest number ?
(A) 10 B) 12 (C) 15 (D) 17

M g He § gE &R e o #1 oo § gaw far omd f w98 den oy o AW
ST BT 91T 4T T 7

(A) 10 (B) 12 © 15 (D) 17

If in each number, unit and hundredth placed digits are interchanged, the lowest number
so formed is :

(A) 375 (B) 257 ©) 161 (D) 169

80.

81.

703/B

IR g% e §, %@aﬁtﬁﬁ%wﬁrwmaﬁaﬂwﬁwﬁmm T 39 ¥ER T 9
BIET T &

(A) 375 (B) 257 (©) 161 (D) 169

The number at unit place, of sum of numbers at unit places of given five numbers. is :
A) 1 (B) 2 (C) 3 (D) 5

€ g it Hersit & S W A SEe % A A den § e e gy

Ay 1. (B) 2 © 3 (D) 5

Read the following two statements and answer the question given below :

Statement I : A and B together complete the work in 10 days.

Statement IT : A takes five days more than B to complete the work.

How long would it take A to complete the work ? To answer the question, correct choice,
is :

(A) Statement I alone is sufficient, but statement II alone is not sufficient,

(B) Statement II alone is sufficient, but I statement alone is not sufficient.

(C) Both statement I and II together are sufficient.

(D) Each statement alone is sufficient.

e 1 et @ ufRw ok < R 1% 997 & oo e

FYT] : A AR B T e & @1 10 Bt g s &

F 11 : B8 & QU & [0 B #F o A 5 R s e 2
B4 F A fba 7w @ 2 999 @ I eH F o, W wm
(A) e 9 1 T 2, AT BT B 11 vt T 2|

(B) el ¥ [T 90T B, Wi Srehelt o 1 qaie 78 2|

(C) 3T &9 [ &R 11 e qafe &)

(D) Ui HE FHebell TG 5|
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Four persons A, B, C and D share their prize amount of Rs. 1,00,000 in such a way that
four times the A’s, three times the B’s, two times the C’s and D’s prize shares are equal.
The sum of prize amounts of A and D is : .

(A) Rs. 40,000 (B) Rs. 48,000 (C) Rs. 54,000 (D) Rs. 60,000

TR @ A, B, C 3R D g 1,00,000 59 & [ 1 A R F @ aw daea e fH A S
R e # A, B % ol &1 i I, C SR D % gl @1 S At R B A SR D @l
(A) 40,000 %o (B) 48,000 %0 (C) 54,000 %0 (D) 606,000 %o

A piece of work can be done by 6 men and 5 women in 6 days or 3 men and 4 women in
10 days. It can be done by 9 men and 15 women in :

(A) 8days (B) 5 days (C) 3days (D) 2 days

Rt w@ B 31 6 To¥ 3R 5 Afewrd 6 Rt #, a1 3 g6 oK 4 Afewrd 10 R+ & g & @ 21 56
9 6N 37 15 wfRar e R § qu & ¥ 2 ? |

A) 8fF . B) sfka (C) QG . (D) 27=

Suppose B takes 10% less time than A, to cover the same distance. Tf A walks at a ratc of
9 km/h, then the speed of B in m/scc., is .

7 1 ' ¥ 5
AxlZ— Bl 2= £ 3-% Dy 5—
(A) 5 (B) 5 (©) N (D) 5
14 ST B $I, G4 3000 F & (W0, A Pl STTE 10% 5 97 70T 81 3k A 9 km/h i Tfd
a2, 9 B &1 Ty m/sec T AT ?

7 1 7 5
A) 2= B) 2- Cy 4= D) i =
)oY (8) 28 & O &

Two pipes A and B can fill a water tank in 24 minutes and 48 minutes respectively. If
both the pipes are opened simultaneously. then after what time the pipe B must be closed
so that tank will be filled in 16 minutes ? | |
(A) 8 B) 10 (C) 12 (D) 16

2 TR A SR B T TR & ¢ B HA: 24 e o 48 e # @ o aa 1 A < ey 06
w&@aﬁffmﬁ,?ﬁ%ﬁw%aﬁwBﬁﬁﬁiﬂﬁqﬁﬂﬁ%éﬁmWﬁWm ?

(A) 8 (B) 10 (C) 12 (D) 16

The smallest number which when increased by 5 is completely divisible by &, 11, and 24,
is :

(A) 243 (B) 259 (C) 289 (D) 303
7% T Fe 341 & e 9| 5 & e A & 7@ e 8, 11 3T 24 § qofaay frsnfr & amdt & 7
(A) 243 (B) 259 (C) 289 (D) 303
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Ifx#yand (x + y)2 =(x—y)* , then which of the following must be true ?

(&) x+yp=x-~y - B) xty=—(x-y)

€y x=0 | (D) xy=0

A x 2y A (x4 ) = (x— )* &, & Fraffies § & aiv-ar ot émr & e 2
) Erp=pey (B) Xy =iz ~5)

(C) x=0 (D) xy=0

Krishna has some hens and goats. If the total number of animal heads are 81 and total
number of animal legs are 234, then percentage of hens in total animals is :

(A) 45% (B) 54% - (©) 55%% (D) 39%

T & 9T 5 AT IR wbfRat €1 af oy ofieif @1 g dem 81 ¥ st s = F 5 vy 234 3
ol ot qggalt # YRrat a1 gfter 2

(A) 45% (B) 54% () 55-3% (DI39%

The average age of A and B is 20 years. If C were to replace A. average would be 19 and
if C'were to replace B, the average would be 21. The ages of C. B and A respectively arc :
(A) 18,20,22 (DD, 13810 (C) 18.22.20 (D) 20,22, 18

A ST B I SE0 777 20 79 &1 7 A F W RO A 77 2 = 777 19 8RR AR R B W
C I &d & 1 offa 21 87111 C, B 9% A 8 31rg shmem: 2 '

(A) 18,20, 22 vep) N P R Ve Vg (D), 20,22,18

Three numbers are such that first is twice the second and is half ot the third. If the average
of three numbers is 56, the three numbers in order are :

(A) 48,24,96 (B) 96, 48, 24 (C) 96.24.48 (D) 48.96.24
i e 7w v 2 5 gaelt qE Y ST & ol el @ amdr 31 aft A smy w ST 56 2
(A) 48,24, 96 (B) 96, 48, 24 (C) 96,24, 48 (D) 48.96. 24

Directions for the following 5 (Five) items no. 91 to 95 :

Below in each item, two statements 1 and I are given. These statements may be cither
independent causes or may be effects of independent cause or a common cause. One of
these statements may be the effect of the other statement. Read both the statements and
decide which of the following answer choice correctly depicts the relationship between
two statements. Mark answer ;

(A) if statement I is the cause and statement II is its effect.

 (B) if statement II is the cause and statement I is its effect.

703/B

(C) if both statements I and II are independent causes.
(D) if both statements I and II are effects of independent causes.
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3 7% geier ¥, 21 Fu [ oK 11 Ry 713 &1 3 o a1 oY WA R0 & qhd & AT WA FRO AT

T I RO B GNE 2 g6 21 5 U § & U o S A 99E 8 Fbdl 81 A1 B Al

_@eﬂ?ﬁﬂﬁﬁm%ﬁﬂﬁf@ﬁWﬁﬁﬁﬁ%ﬁ?—ﬁﬁ%ﬁ%éﬁﬁﬁﬁ&a-&aﬁrﬁﬁ

e gl I fafea #ifv

(A) A FEF [ HRU ¥ 37K FH9 11 58 9 2|

(B) AR & 11 $10 & 3R H [ 56T 99 &l

(C) T S Fo 1 & 11 T H 2

(D) A% I e [ 3R 11 T SR & H99 & |

Statement I : A few parents in the locality decided to stop sending their children to school
by private vehicles. _

Statement I : Two accidents of different private van carrying school children lead to
deaths of few and injuries for many chikdren.

For ;e ¥ 55 AIAI-TUaT 4 S aedi @Y (el aredi § & 7 o a1 {4t fere
FuT I : W%aﬁaﬁréaﬁmﬁﬁﬁmﬁﬁmaﬁﬁgﬁaﬁ%@ﬁﬁmﬁﬂé
IR HE o T@ 8l 14|

Statement I : A Metro city observed the lowest temperature of the last decadc
~ accompanied by heavy fog during the week.
Statement II : Most of the flights from the city were indefinitely delayed causing panic
among the passengers.
FoT [:  UF S OF G GE b AN A A F AT e Gu Bl A AT Sl
FUT 1T+ S & AUHaT TI SR I 0% Feitee & T s SR e Teiee & |
Statement I : In last five years the job market has improved for professionally qualified
youth.
Statement II : Many youths are not able to get jobs up to their expectations.
FoT [» (o ot aut ¥ A9 5§ 4G Zaei & forg ARl & a7 GUR gl
Fo I1: 57 &R a1 S I3 & W et o & 4 7 |
Statement I : During peak hours’ roads are overcrowded witn vehicles causing traffic
jams in most parts of the city. '
Statement I : Many automobile companies are planning to launch low price vehicles.
FUT] A GG F A T e § A -7 aeh & At & e SR e 6, SRR
it # e ST & Srar Bl
FoT [1: T~ A B FTAT B S  AEAT B A B Bl Ao G0 @ E

Statement I : During evening hours’ roads are overcrowded with vehicles causing very
slow movement of vehicles. ' _
Statement I : Air pollution level in the air has substantially increased in the recent past.
P [ W IR g% AEAl 4 oifte sfvg-og areh & ot & fore Fror avee it 9
ol & Sl &
FoT I1: o B & &4 ¥ AT UgN &1 TR H &% 76 96 741 8|

B T:0
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Directions for the following 5 (five) items no. 96 to 100 :

The following 5 items are based on the following passage in English to test the comprehension of
| English Language and thercfore these items do not have Hindi version.

et 5 (ate) wewisht (Ho 96 & 100) ¥ fora Frdar :

ferferiaa 5 eter siirslt & fmfafas ofede w e € ofit i w17 & st & qler % g £ o

& ST T R T3 AEF R o e R

Observe the dilemma of the fungus : itis a 'plant‘ but it possesses no chlorophyll. While all
other plants put the sun’s energy to work for them, combining the nutrients of ground and
air into the body structure, the chlorophyll’s fungus must look elsewhere for an energy
supply. It finds it in those other plants which, having received their energy free from sun,
relinquish it at some point in their cycle either to animals or to fungi

In this search for energy the fungus has become the earth’s major source of rot and decay
Wherever you see mold forming on a piece of bread, or a pile of leaves turning to
compost, or a blown-down trec becoming pulp on the ground, you are watching a fungus
cating. Without fungus action the earth would be piled high with the dead plant life of past
centuries. In fact, certain plants which contains resins that are toxic to fungi will .last
indefinitely; specimens are redwood. for instance; can still-be found resting on the forest
floor centurics after having being blown down.

96. The word, best describe the fungus as depicted in the passage. is :
(A) Unevolved (B) Sporadic (C) - Parasitic (D) Toxic

97. The passage states all the following about fungi. except :
(AY They are vastly different from other plants
(B) They are poisonous to resin-producing plants
(C) They can’t produce their source of energy
(D) They can’t live completely apart from other plants

98. The line “you are watching a fungus eating™ is best described as :
(A) Contradictory (B) Erroneous (C) Ironical (D) Figurative

99. The author is mainly concerned with :
(A) Describing the actions of fungi
(B) Warning people of the dangers of fungi
(C) Writing an essay on fungi
(D) Explaining the long life of some redwoods

100. The fungus generate cnergy from :
(A) Suh (B} Other plants  (C) Redwood (D) Decay itself

703/B
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